—MAARNE  FH 30 F 9 BREts

BEX
15AD HANS
CERE
(15 AIEDE]
e |G
o| o | iy
c| e | o
0| o | oy
| e | e
BBETER

BIRRE = BEANE + tEREREMx TEAE [(AXRETDIETI]

(BAREETES)

1H ADZHEREN21M’DFE ( [BEERC] HNEREINET)

BIRRE = 890 + 205.17H
- CEKE (CH&fA#H)  5,6130
[RRHEARDZEEIRDT

(1) EARMmAR DRI

FIYEEHEE (LNGIRE) *!
LNGEHS#@A Mg (BES3#HE)

9B/%
¥i3==¢ = kg ==L
[1m3ICD&]
237.2436M
(219.67M)
235.0836M
(217.67M)
221.5836M
(205.17M)
219.6072M8
(203.34M)
214.20728
(198.34M)

() APHERFAEIZENER]

21 m=

LPG (T'O/\>) FI@mA it (EZHatE)

BT ERME (LNGHE) ~°

%1 I ERUEE = LNG$1’2]$€E7UW§XC_).9273X3 + LPGE198 Affi#& x0.0775™

CaE

%2 EETIERIM G, BB
%3 EBIDOLNGHER L

(%)
8AN
SR
(1m3lcD)
236.0880M
(218.60M)
233.9280M
(216.60M)
220.4280M
(204.10M)
218.4516M
(202.27M)
213.0516M
(197.27M)

X4 [FRRIDLPGHERLLEE(C, LPGHSLNGADEREZ IR LIZED

(2)1m’d Tz D DEAIREHEEDEEHE
OEFEFHIEZEIEADETE

54,940M/ty  (FE[RAMELR) - 89,530M/1

@1m Sz D DB S FAREDEE
A 34,500/

CHBERRS)
(ERMEASZ8)4R) /100Mx 0.082 *1 =

(BT RAUME) =

X1 ZEEA100M(C DS BN EZ 1M 2D 0.082MFHE
%2 XA FRBEORF (N2 LT U, TS AARORIIEEM 2 DIETD

(3)1m Bz D DEATRIEAEIBOLE HFIH ./ Bitks)

TR3069A% | THi30&E8H%
HEELE(A) $A%%(B)
A28.29M/m A29.36M/m

(4R D EBEDSERE (21m°/8) *CHIFIHE
EM3059A% | F30%E8AR
EANE (B)

BRIC{ERZE BRSNS (A)
21m’ 5,613

=#(A)-(B)

+1.07H/m

5,590H

R (—iRRE  BhA)

2
(A) — (B)
+23H

% 21m°/BlE. REAOBEIF1M4HIZ D TOEGH X EHS
(EHHREREEE. FRR1ISFE~ERR22FEDSHEFHICLIDETELUTULET)

'/ l\'J\NJ\Zﬁ\\u\ WATER & ENERGY CENTER
K &Rt %e

5,198H [FAREIDIET]
3044H~3046AH 3043HA~3045H
(9R#RE S CERA) (8RR CER)
54,940M/b 53,640M/b
54,420M/b 53,110M/b
57,780M/b 56,680/t
89,5303/

[10AREMERA]

UTZEEHEAS (R (3R 268E9~118 D34 BREIDFIE)

A 34,500M/by  [100MKEHIET.

A28.29M/m *?



